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33, JAISIIBIE IFT BET: 1 + % + %
a

o Watch Video Solution

34, SIS 451 BT : 9a® + 24ab + 165



https://dl.doubtnut.com/l/_Rnl5lBXfFZBy
https://dl.doubtnut.com/l/_YKnbg6Zp308T
https://dl.doubtnut.com/l/_IzioTgGH1TFI
https://dl.doubtnut.com/l/_Nr3q0x7VfLSd
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o Watch Video Solution

35. (1B S S T fAST ST : 64a” + 160 + 1 YA a=1

o Watch Video Solution

36. 4B 9B S T AT &M : 256 — 30ab + 9b* TLA

a=3 49dR b=2

o Watch Video Solution
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o Watch Video Solution



https://dl.doubtnut.com/l/_Q3sibYS9Ph7M
https://dl.doubtnut.com/l/_BEu43Mu4pzmS
https://dl.doubtnut.com/l/_yOeZ1r28uJjL
https://dl.doubtnut.com/l/_LkZllQ9UftAR

38, JfISIBI aBt S TN AT QT : p’q® + 10pgr + 2512 WS

p=2,q=-18 r=3

o Watch Video Solution

39. (a+b)°+ (a—1b)*=2(a® + b a3e

(a+b)°—(a—0b)°=4ab A ab= (a;‘b)2_<a;b>2

-9 ARITT - st 8 (s"2+t"2) TN (TN I s+t =12 8
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o Watch Video Solution
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https://dl.doubtnut.com/l/_YZ0XumPbLmHx
https://dl.doubtnut.com/l/_4kirJ8HMKC4y
https://dl.doubtnut.com/l/_YgzrcvWU6t7J

-a3 SR -8zy(z® + y*) 99 FA @ TF (z +y) =5 8

(z—-y) =1

° Watch Video Solution

41, (a+b)°+ (a—b)®=2(a® + b a7e
2 2
(a+b)?—(a—0b)?=4ab ab:(“;b> —(“gb>
z? + y?
-4 SRIEy - 2%y a7 A @ ¥ (z+y) =9 3
(z —y) =5

o Watch Video Solution

42, (a+b)°+ (a—b)®=2(a® + V) a3e

(a+b)°—(a—0b)° =4ab A ab= (“;b>2_ (a;b>2

-a3 SIRITT -36 (P G (5T ABIAS GBI AT |
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43. (a+b)°+(a—0b)° = 2(a® +b%) AR

(a+b)°—(a—b)>=4ab A ab= (a;b)z_ (a;b>2

-a3 STRITT -44 (P UG I Trgddst B St |

° Watch Video Solution

44, (a+b)°+ (a—b)*=2(a® +b?) a7e

(a+b)°—(a—b)°=4ab I ab= (a;b)2_<a;b>2

-a3 STRITT 822 + 50y° (@ 7D I TAHS gF ¥ T |
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° Watch Video Solution

46.(a + b) x (a — b) = a® — b? ATO a=-2,b=9 IO {F A3 LT |

° Watch Video Solution

47.a*> — b* = (a + b)(a — b) -a9 AT 78° — 22* -99 T @

ST |

° Watch Video Solution

48. o — b* = (a + b)(a — b) -a9 SRITT 94 x 106 -9 JIA @K

ST |
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https://dl.doubtnut.com/l/_p8gmZTuI4f8j
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49. J0ad AT (p + 5) (p — 5) -6 S fHAT ot |
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50. J(ad MRIRT 81 — a? @ 7o Gt TYUTIEAT BT WD

BT PIIT (G AT |

° Watch Video Solution
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T AT &7 |
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https://dl.doubtnut.com/l/_riOSzql6rOTe
https://dl.doubtnut.com/l/_BCs7KZhGuRqk

52. Jad AT (5m + 2n + 3p)(5m + 2n — 3p) -99 JADA fH

2 T |

o Watch Video Solution

53. (@d MRl (z + y)(z — y) (2 + y%) (z* + ) -a0R ST

(A999) B DRI @ DI A3 O |

o Watch Video Solution

54. (a®* — b%) = (a + b)(a — b) 9% Y@< I FF AT S
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° Watch Video Solution



https://dl.doubtnut.com/l/_wXUlRf4LsA5w
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https://dl.doubtnut.com/l/_yOduKxiCwRa3

55. (a® — b*) = (a + b)(a — b) 92 >@d NAW FA AT B
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o Watch Video Solution

56. (a®> — b%) = (a + b)(a — b) 9% Y@< I TN AT BT :
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58. (a® — b°) = (a + b)(a — b) 92 >@d NAW FA AT B
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o Watch Video Solution

59.k — p* = (9 + p)(9 — p) A k-9 T B0 W[ (@G I |

o Watch Video Solution

60. (25 — 42°) = (5 + az)(5 — az) AT a -97 GANAD TA DO

2 79 St |

o Watch Video Solution
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| o Watch Video Solution

62. Jad MRITTT BIHeAdR gB T BEM: 2512 — 16m?

o Watch Video Solution
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o Watch Video Solution
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o Watch Video Solution
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° Watch Video Solution
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o Watch Video Solution
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o Watch Video Solution
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o Watch Video Solution
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o Watch Video Solution
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° Watch Video Solution

1 .
8l.a> + — — 3 - (@ b I TBIHHA (a° — b” WD) FBPT
a

ST |

° Watch Video Solution



https://dl.doubtnut.com/l/_VguaU8vmn91W
https://dl.doubtnut.com/l/_BfYH85z0ukWK
https://dl.doubtnut.com/l/_Fg8zz4mXPBtg
https://dl.doubtnut.com/l/_VvnIZblLoAcU

